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1 *2* % (n-1) *n n J,e56 sawle O

120

fact (5)
/TI 24
5 fact (4)

4 fact (3)
public static long fact(intn) = N 2

{

3 fact (2)
if (n == 0) return 1; ngbﬁﬁ ..... .
else return n * fact(n-1); 27 R

2 fact (1)
\ ..... 1

Uid"d/'b (/’94’/9 1 fact (0) I
/%
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gcd (4032, 1272) = 24. Jte O
4032 = 26 x 32 x 7!
1272 = 23 * 31 * 531
gcd = 23 % 3!

.L@dﬁ)lf ]

.Lg).wf Slael Lg)‘l.wodl.w O
RSA 6)&}% O
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[oMee 51 b Jlo Yoo ] oadil 20,61 O

p q=20

ged(p,q) = {gcd(q,p%Q) otherwise

gcd (4032, 1272) gcd (1272, 216)

gcd (216, 192) \ 4032 = 3 * 1272 + 216
gcd (192, 24)
gcd (24, 0)

= 24
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p q=20

ged(p,q) = {gcd(q,P%Q) otherwise

public static int gecd(int p, int q)
{

if (g == 0) return p;

else return gecd(gq, P % q);
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public class HTree
{
public static void draw(int n, double sz, double x, y)
{
if (n == 0) return;
double x0 = x - sz/2; double x1 = x + sz/2;
double yO = y - sz/2; double yl =y + sz/2;
StdDraw.line(x0, v , x1, y ), .
: H ey
StdDraw.line (x0, y0, x0, y1);
StdDraw.line(x1, y0, x1, yl1);
draw(n - 1, sz/2, x0, yO0); H b)) P ruwy
draw(n - 1, sz/2, x0, yl); 2Ly -
draw(n - 1, sz/2, x1, yO0); i 9 4
draw(n - 1, sz/2, x1, yl);
}
¢ (X ) ¢ (X))
public static void main(String[] args) .
{ i (x, y)
int n = Integer.parselnt(args[0]); 27 * 1
draw(n, 0.5, 0.5, 0.5);
I E“'[-‘:n'}"u] o (x,y)
} 1990 ~ (5918) 1ol 33w — (@Ie) (Bhb § Julas
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public class TowersOfHanoi

{

public static void moves (int N, int from, int to, int help) {

if (N == 1)
System.out.printf (“%d --> %d\n”, from, to);
else {

moves(N - 1, from, help, to);
System.out.printf (“*%d --> %d\n”, from, to);

moves (N — 1, help, to, from);

}

public static void main(String[] args) ({
int N = Integer.parselnt(args[0]) ;
moves (N, 1, 3, 2);
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%$java TowersOfHanoi 3 %$java TowersOfHanoi 4
1 -->3 1 -->2
1 -->2 1 -->3
3 --> 2 2 --> 3
1 -->3 1 -->2
2 --> 1 3 -->1
2 --> 3 3 --> 2
1 -->3 1 --> 2
1 -->3
2 --> 3
2 --> 1
3 -->1
2 --> 3
1 -->2
1 -->3
2 --> 3
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o, 1,1, 2, 3, 5, 8, 13, 21, 34, ..

0 n=0
F(n) =<1 n=1
\F(n—1)+F(n—2) n=2

public static long F(int n)

{
if (n == 0) return O;
if (n == 1) return 1;
return F(n - 1) + F(n - 2);

1090 - (5615) 100 33w ~ eI ()b § Julad



(5008 >lacl
B
Cel LS F(50) samle lp oaS5b Jool, LI o O

public static long F(int n)
{
if (n == 0) return O;
if (n == 1) return 1;
return F(n - 1) + F(n - 2);
}

Ll 2ol BL (658l 5 )b 4 oSl 7 O

15 o Il 4 1 F (50)

F(50)
)ybwc,/'l,;il,.é/QI:F(49) — —
9 (p (Sl 4 P F(48) F(49) F(48)
s9ir op (HIBlS 4 P F (A7) — ™~ T~
, F(48) F(47) F(47) F(46)
>9i A (Sl U 0 F (46)
’ VRN SN VRN SN\

i S AE (D) pigay pla6) F(46) F(45) F(46) F(45) F(45) F(44)

/N /N /N /N /N /N /N /N

>98 p (FlsBlS b IPOVIPYAPO F (1)
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public static long F(int n)

{
if (n == 0) return O; F(5)
long[] F = new long[n + 1]; 0 1 2 3 4 5
F[O0] = O;
F[1] = 1; EEENESEIERER

for (int i = 2; i <= n; i++)
F[i] = f[i - 1] + F[i - 2];
return F[n];

}
ol Lo (g3 el p SaST o 2lgnd slael ol gl YU iS00 )65 > b SLusS O
losb Lo bl wo,ls
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private static void merge (Comparable[] a, Comparable[] aux, int lo, int mid, int hi)

{

assert isSorted(a, lo, mid) ; // precondition: a[lo..mid] sorted

assert isSorted(a, mid+1l, hi); // precondition: a[mid+1l..hi] sorted

for (int k = lo; k <= hi; k++) S
aux[k] = a[k] o

int 1 = 1o, j = mid + 1;

. . Y

for (int k = lo; k <= hi; k++)
{

if (i > mid) alk] = aux[j++];

else if (j > hi) alk] = aux[i++];

else if (less(aux[j], aux[i])) al[k] = aux[]j++];

else alk] = aux[i++];
}
assert isSorted(a, lo, hi); // postcondition: a[lo..hi] sorted
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Aol oo Jo Oyle aSST Ka 09 oo Liwl 590 el Jgl> s assert jqiws O

assert isSorted(a, 1lo, hi);|

Dges Jld e b Js 1zl ey o l,assert oljgiws g5 o O

java —ea MyProgram; // enable assertions
java —-da MyProgram; // disable assertions (default)
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public class MergeSort

{

private static void merge (Comparable[] a, Comparable[] aux, int lo, int mid, int hi)
{ /* see slide 81 */ }

private static void sort(Comparable[] a, Comparable[] aux, int lo, int hi)

{

if (hi <= lo) return;
int mid = lo + (hi - 1lo) / 2; lo

mid hi
sort (a, aux, lo, mid); -----
sort (a, aux, mid+1l, hi);
merge (a, aux, lo, mid, hi);

}

public static void sort (Comparable[] a)

{
Comparable[] aux = new Comparable[a.length];
sort(a, aux, 0, a.length - 1);
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1)al (203) :8lEs) SHlwLsys

al]
1o hi g 1 2 3 4 5 6 7 8 91011 12 13 14 15
\ / M ERGESORTTEUXA AMTPLE
merge{a, 0, 0, 1) E M
merge(a, 2, 2, 3) G R
mergef{a, 0, 1, 3) E G M R
merge{a, 4, 4, 5) E S
merge(a, 6, 6, 7) 0O R
merge{a, 4, 5, 7) E O R S
merge(a, 0, 3, 7) E E G M O R R 5§
merge{a, 8, 8, 9) E T
merge(a, 10, 10, 11) A X
mergef{a, &, 9, 11) A E T X
merge(a, 12, 12, 13) M P
merge(a, 14, 14, 15) E L
merge(a, 12, 13, 15) E L M P
merge(a, &, 11, 15) A°E E L M P T X
merge{a, 0, 7, 15) A E E E E GC L M MO PR RIRST X
% Java TraceMerge MERGESORTEXAMPLE
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A % java Merge 50

1090 — (5615) 100 33w ~ eI ()b § Julad



()03 JAa3 3 8lEs] (Sjlwadye

:‘).?‘ QLo)‘ Cyozo U
d..ul.s )o d..wuLQ.o \’A ul.agz.‘ O

(N 1g N) okl g5lwed p (N?) =50 sibwed po
----
aido VA A8 )68 JLYY  cell YA 168 S
‘)33 ‘)95 ‘)93 dion ) asb ) ‘)39 FoelS

o 1o i, yauelS ol SO 51yt Cg2 0 oSN SO L6 S ases O

1090 - (5615) 100 33w ~ eI ()b § Julad




o llA

4
Tpemsis (2550 laph oSl 4igSe O
AS eolaiuwl a2l o lie 0 )57 Jlis gl a8 5b ey 510

(S5l slaiy 95 (s 5l sLle T
(=5 5h 58 Sa5 iz Sew S5 b lsl O
s 54l 3k 108 (655 S, b plnl O

| 5ls 31 6 et 5 ety 5 iy ool S s S5

1090 - (5615) 100 33w ~ eI ()b § Julad



LESIG sloelyga)! Jala3 -




N J1)e356 sauwlas

_fv r
oS b i oS SO s e O
ol Jos a5 O

Laalsl jol ool caws 4y i55L sabal, J> O
om0 T (n)

N

public static long fact(int n)
{

if (n == 0) return 1; -~ o
else return n * fact(n - 1),

} AN

/ N

ywy o T(n — 1)

1090 - (5615) 100 33w ~ eI ()b § Julad



sl slgoy

I T,

public class TowersOfHanoi

{

public static void moves (int n, int from, int to, int help)

{

if (n == 1)
System.out.printf (“%d --> %d\n”, from, to); 1
else
{
moves(n — 1, from, help, to); T(n - 1)
System.out.printf(“%d --> %d\n”, from, to); 1
moves (n — 1, help, to, from); T(n - 1)

}
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public class MergeSort

{

private static void merge (Comparable[] a, Comparable[] aux, int lo, int mid, int hi)
{ /* see slide 81 */ }

private static void sort (Comparable[] a, Comparable[] aux, int lo, int hi)

{

if (hi <= lo) return;

int mid = lo + (hi - lo) / 2;

sort (a, aux, lo, mid); T(n/2)
sort (a, aux, mid+l, hi); T(n/2)

merge (a, aux, lo, mid, hi); n -1
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T (1)
T (2)
T (3)
T (4)

T (n)

T (0)
T (1)
T (2)
T (3)

+ + + +

e

0 +1
1 +1
2 +1
3 +1

_ W N R

aJql salox S )'1 oalawl b olg> o> 0O

| ol
cwl Jgpn = 0 ¢l oyl

T (0) 0

Lzl U

T(n + 1) = T(n) + 1 n + 1
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aJql salox S )'1 oalawl b olg> o> 0O

T(2) =T(1) +1=1+1=2 el JGpn = 1 sl ol
i) = wls) @ s B a LS e T(1) =1+1g1=1+0=1
T(8) =T(4) + 1 =3 +1=14 .Iﬁwl["(}/
T(l16) = T(8) +1 =4 +1=25
T(2n) = T(n) + 1

= (lgn +1) +1
T(n) =1gn + 1 (19 ,

=1lg 2n + 1
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T (2)
T(3)
T (4)
T(5)

T (n)

2T (1)
2T (2)
2T (3)
2T (4)

2n

+ + + +

L

2 +1
6 + 1
14 + 1
30 + 1

15
31

aJql salox S )| oalawl b olg> o> 0O

| i)
cwl Jgpn = 1 sl o gl
T(1) =2t -1 =1
Lzl U
T(n + 1)

2T (n) + 1
=2(2" - 1) + 1
=20+1 - 2 41
= on+1 _ 1
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T (2)
T (4)
T (8)
T (16)

T (n)

2T (1)
2T (2)
2T (4)
2T (8)

+ 1
+ 3
+ 7
+ 15

0+ 1
2 + 3
10 + 7
34 + 15

17
49

adol galoz x> sl oslaiwl b Olg> wos O

Luwas (Joal, (s

v
,///”/?z¢wgﬂg@wi
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T(n) = T(n - 1) + 1 T(n - i) = T(0) = n -1i=20
=T(n - 2) + 1+ 1 = T(n - 2) + 2 = i =n
=T(n - 3) + 1 + 2 = T(n - 3) + 3 T(n) = T(n — n) + n
= T(n - 4) + 1 + 3 = T(n — 4) + 4 = T(0) + n
=0+ n
= T(n - i) + 1 = n
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T(n/2!) + 1

T(n/2%) + 1 + 1

T(n/23) + 1 + 1 + 1
T(n/2%) + 1 +1+1+1

T (n/21)
T (n/22)
T (n/23)
T (n/2%)

T (n/2%)

+ + + +
A W N R

T(n/2%) = T(1)

T (n)

T(1) + 1g n
= 1 + 1gn
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T (n)

2T(n - 1) + 1
21[2T(n - 2) + 1] + 1
22[2T(n - 3) + 1] + 3
23[2T(n - 4) + 1] + 7

21T (n
22T (n
23T (n
24T (n

21T (n

- 1)

- 2)

- 4)

+ 2!
+ 22
+ 23
+ 24

+ 2¢

e U R

:303)0 ulg) Jo

ST CRTFINIIE Ju

T(n - 1) =T(l) > n - 1

— i=n-1

20 -1 T(1) + 2n-1 - 1
2 - 2n-1 -1
20 - 1

T (n)
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T (n)

2T (n/2) + n

= 21[2T(n/2%) + n/2'] + n
= 22[2T(n/23) + n/2%] + 2n
= 23[2T(n/2%) + n/23] + 3n

= 21T (n/2!) + 1'n
= 22T(n/2%2) + 2°n
= 23T(n/23) + 3°n
= 2T (n/2%) + 4-n

= 2iT(n/2%) + i‘n

T(n/2%¥) = T(1l) = n/2f =1
= i = 1g n

T(n) = 292 T(1) + n 1g n

n -0+ nlgn

n lg n
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rw-ar()ree  @or> =

T(n) =4T(n/2) + 6(nt) (=12 T(n) € ©(n?) (a=4,b=2,c=1)=logya>c
T(n) = 4T(n/2) + O(n?) (=22 T(n) € O(n?lgn) (a=4,b=2,c=2)=logya=c
T(n) =4T(n/2) + O(n?) (=33 T(n) € 0(n3) (a=4,b=2,c=3)=log,a<c
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